SEROW250/XT250




&7/~ DIRTFREAIC APPLICATION by MODEL

Bike | Year | Description \ Part number
ZETA

SEROW250 ALL Comp Bar Motard Low Blue ZEQ7-6612
SEROW250 ALL  Comp Bar Motard Low Red ZE07-6613
SEROW250 ALL  Comp Bar Motard Low Ti-Color ZE07-6618
SEROW250 ALL  CX Bar Super Moto Low Black ZE09-6611
SEROW250 ALL  CX Bar Super Moto Low Blue ZE09-6612
SEROW250 ALL  CX Bar Super Moto Low Red ZE09-6613
SEROW250 05-18  Top Clamp SX ZE11-4233
SEROW250 05-18  Top Clamp COMP ZE12-4233
XT250 08-20 Pivot Lever <Brake> CP 3-Fin ZE41-3161
XT250 08-20 Pivot Lever <Brake> CP 4-Fin ZE41-4161
XT250 08-20 Pivot Lever <Clutch> CP 3-Fin ZE42-3160
XT250 08-20 Pivot Lever <Clutch> CP 4-Fin ZE42-4160
XT250 08-20 Pivot Lever Set CP 3Fi Black ZE44-8011
XT250 08-20 Pivot Lever Set CP 3Fi Blue ZE44-8012
SEROW250 05-18 FrameGuard ZE52-0313
XT250 08-20 FrameGuard ZE52-0313
SEROW250 05-17 ED Skid Plate ZE55-2420
XT250 08-20 ED Skid Plate LT ZE55-2470
SEROW250 18  ED Skid Plate LT ZE55-2470
SEROW250 05-18 FrontFork Cap Gold ZE56-10524
SEROW250 05-18 Side Stand Extender Blk/Slv ZE56-6610
XT250 08-20 Side Stand Extender Blk/Slv ZE56-6610
SEROW250 05-18 Forged Aluminum KickStand Low ZE56-8639
XT250 08-20 Forged Aluminum KickStand Low ZE56-8639
SEROW250 05-18 Forged Aluminum KickStand High ZE56-8649
XT250 08-20 Forged Aluminum KickStand High ZE56-8649
SEROW250 05-18 Forged Aluminum KickStand Option&Rep.Tip 30mm ZE56-8909
XT250 08-20 Forged Aluminum KickStand Option&Rep.Tip 30mm ZE56-8909
SEROW250 05-18 Forged Aluminum KickStand Option&Rep.Tip 55mm ZE56-8919
XT250 08-20 Forged Aluminum KickStand Option&Rep.Tip 55mm ZE56-8919
SEROW250 05-18 Forged Aluminum KickStand Option&Rep.Tip 80mm ZE56-8929
XT250 08-20 Forged Aluminum KickStand Option&Rep.Tip 80mm ZE56-8929
SEROW250 05-18 Forged Aluminum KickStand Option&Rep.Tip 105mm ZE56-8939
XT250 08-20 Forged Aluminum KickStand Option&Rep.Tip 105mm ZE56-8939
SEROW250 05-18 Magnetic Drain Bolt M12x15-P1.5 Blue ZE58-1522
SEROW250 05-18 Magnetic Drain Bolt M12x15-P1.5 Red ZE58-1523
SEROW250 05-18  Stem Nut M22x27-P1.0 H12 Blue ZE58-2022
SEROW250 05-18  Stem Nut M22x27-P1.0 H12 Red ZE58-2023
SEROW250 05-18 Drive Cover Ti-Color ZEB0-9606
SEROW250 05-18 Heel Guard Black ZE81-2051
SEROW250 ALL  Chain Guard Brace ZE82-0241
SEROW250 05-18 Brake Reservoir Cover <Front> Blue ZE86-1501
XT250 08-20 Brake Reservoir Cover <Front> Blue ZE86-1501
SEROW250 05-18 Brake Reservoir Cover <Front> Red ZE86-1503
XT250 08-20 Brake Reservoir Cover <Front> Red ZE86-1503
SEROW250 05-18 Brake Reservoir Cover <Rear> Blue ZE86-5101
XT250 08-20 Brake Reservoir Cover <Rear> Blue ZE86-5101
SEROW250 05-18 Brake Reservoir Cover <Rear> Red ZE86-5103
XT250 08-20 Brake Reservoir Cover <Rear> Red ZE86-5103
SEROW250 05-18 Engine Plugs Red ZE89-1410
SEROW250 05-18 Engine Plugs Blue ZE89-1412
SEROW250 05-18  Qil Filler Plug Red ZE89-2210
SEROW250 05-18  Qil Filler Plug Blue ZE89-2212
SEROW250 05-18 Rear Brake Clevis Blue ZE89-5034
SEROW250 05-18 Rear Brake Clevis Red ZE89-5035
SEROW250 05-18 Revolver Shift Lever Black ZE90-3360
XT250 08-20 Revolver Shift Lever Black ZE90-3360
SEROW250 05-18 Revolver Shift Lever Rep. Tip Mount Straight Black ZE90-3900
XT250 08-20 Revolver Shift Lever Rep. Tip Mount Straight Black ZE90-3900
SEROW250 05-18 Revolver Shift Lever Rep. Tip 28mm Ti-Color ZE90-3930
XT250 08-20 Revolver Shift Lever Rep. Tip 28mm Ti-Color ZE90-3930
SEROW250 05-18 Trigger Brake Pedal Black ZE90-7350
XT250 08-20 Triiier Brake Pedal Black ZE90-7350
SEROW250 05-18 DC SUS Spoke Set Front DC423-1080
SEROW250 05-18 R50 Rim 21-1.60 36H-1 Black W01-92411
SEROW250 05-18 R50 Rim 21-1.60 36H-1 Red WO01-92413
SEROW250 05-18 R50 Rim 21-1.60 36H-1 Green WO01-92414
SEROW250 05-18 R50 Rim 21-1.60 36H-1 Silver W01-92418
SEROW250 05-18  SUS304 Spoke Set F W10-27360
SEROW250 05-18  ZigramRotor <Front> SUS W51-10336
XT250 08-20 ZigramRotor <Front> SUS W51-10336
SEROW250 05-18  ZigramRotor <Rear> SUS W51-20336
XT250 08-20 ZiiramRotor <Rear> SUS W51-20336
SEROW250 05-18 Brake Disk FlangeBolt Set 6-M6 17mm 6pcs ZT31-0556
SEROW250 05-18 Brake Disk ThinHeadBolt Set 10-M8 20mm 3pcs ZT31-3743
SEROW250 05-18 Flange Bolt Set M8 35mm 4pcs ZT783-2354
SEROW250 05-18 Flange Bolt Set M8 40mm 4pcs ZT83-2404
SEROW250 05-18 Flange Bolt Set M10 30mm 2pcs ZT84-2302
SEROW250 05-18 Cai Screw Set M8 30mm 4ics ZT87-1304
SEROW250 05-18 Stock Replacement Lever <Clutch> STD D40-01-706
XT250 08-20 Stock Replacement Lever <Clutch> STD D40-01-706
SEROW250 05-18 Stock Replacement Lever <Clutch> Short D40-03-706
XT250 08-20 Stock Replacement Lever <Clutch> Short D40-03-706
XT250 08-20 Stock Replacement Lever <Brake> STD D40-11-410
SEROW250 05-18 Stock Replacement Lever <Brake> STD D40-11-606
XT250 08-20 Stock Replacement Lever <Brake> Short D40-13-410
SEROW250 05-18 Stock Replacement Lever <Brake> Short D40-13-606
SEROW250 05-18 Rear Shock Link Kit LowDown D46-01-234
SEROW250 05-18 Rear Shock Link Kit HiﬁhLift D46-01-543
SEROW250 08-17  Torq Head Pipe DL30-2202
SEROW250 18  Torq Head Pipe DL30-2203
SEROW250 08-17 Barrel4 Silencer DL30-6205
SEROW250 18 Barrel4 Silencer DL30-6205
SEROW250 08-17 Barrel4 JMCA Silencer DL30-7207

SEROW250 18 Barrel4 JMCA Silencer DL30-7208



	serow_1
	serow_2

